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Profits line graph

Data and Graphing Worksheet
The line graph shows the company profits for 6 years.

Profits and Losses
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1. How much did the company earn in 20177

2. How much more did the company earn in 2015
than 20167

3. How many years did the company earn less than
$80,0007?

4. In which years did the company earn the same
amount?

5. Between which years had the greatest increase in
profits?

6. What is the total profit over the six-year period?
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Answers
Profits and Losses
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How much did the company earn in 20177 $70,000
How much more did the company earn in
2015 than 20167 $20,000
How many years did the company earn less
than $80,0007? 3 years
In which years did the company earn the
same amount? 2018 and 2019
Between which years had the greatest
increase in profits? 2016 and 2017
What is the total profit over the six-year
period? $450,000
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